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tzpfKk; fzf;fPl;L fy;tpAk; 

tpilj;jhs; 

Grade 11 

gFjp - 1 

01. 3 11. 3 21. 2 31. 2 

02. 4 12. 1 22. 1 32. 3 

03. 3 13. 2 23. 3 33. 3 

04. 2 14. 4 24. 1 34. 3 

05. 2 15. 2 25. 2 35. 1 

06. 3 16. 3 26. 3 36. 4 

07. 1 17. 2 27. 3 37. 3 

08. 1 18. 2 28. 3 38. 2 

09. 4 19. 1 29. 4 39. 2 

10. 2 20. 4 30. 3 40. 3 

 

 gFjp - 2 

01)   
1. gq;Flik 
2. jpwd; tha;e;j Kfhik 

epjp MSik / mjpf %yjdj;ij ngw;Wf;nfhs;sy;. 
3. tq;fp> fhg;GWjp> njhlu;ghly;> Nghf;Ftuj;J 
4. jpl;lkply;> xOq;fikj;jy;> newpg;gLj;jy;> fl;Lg;gLj;jy; 
5. &gh 400>000 
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6. nrhj;J  = %yjdk; + nghWg;Gf;fs; 

400 000 = 400 000  

150 000  =                    + 150 000 

550 000    =400 000    +150 000 

 

7. fhNrL> nfhs;tdT ehNsL> tpw;gid ehNsL> nghJ ehl;Fwpg;NgL 

8. tq;fpf; fzf;F tuT 
       fhRf; fzf;F nryT 

9. $ba ghJfhg;gpid ngw;Wf; nfhLj;jy;. 
Fwpg;gpl;l njhif cupa egUf;F fpilf;fg; ngwr; nra;jy;. 

 

10.    

 

 

 

 

 

02)  
1. kdpjd; capu; tho;tjw;F mtrpak; G+u;j;jp nra;ag;gl Ntz;bait NjitahFk;. 

c+k;  
  cil> ciwtplk;> czT 
tpUg;gk; vd;gJ Njitia G+u;j;jp nra;J nfhs;Sk; tbtk; my;yJ kdehl;lkhFk;. 

c+k;  
  rhup> tPL> Fbir> ghz; 

2. cupikahsu; - %yjdj;ij <LgLj;jy; 
  ,yhgk; cioj;jy; 

%yjdk; 400 000 tq;fp                  10 000  
000                

tq;fpf;fld; 150 000  

tpw;gid 42 000 kPjp/nfh/t             582 000   
595 000                     595 000 

kPjp/nfh/t 582 000     
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  tzpfj;jpd; tsu;r;rp 
Kfhikahsu; -Kfhikj; jPu;khdq;fis Nkw;nfhs;sy;. 
  tzpf tsq;fis nraw;gLj;jy; 
Copau;fs; -  ghJfhg;ghd Ntiy   
  epahakhd rk;gsk;. 
  

3. (i) mfr;#oy;> Gwr;#oy; 

(ii) rk;gs kl;lk;> tpiy kl;lk;> gztPf;fk; 
4. gyk;; - NghjpasT %yjdk; fhzg;gly; 

      Kfhikahsu; mDgtk; 
      gzpahsupd; tpNrl jpwDk; mu;g;gzpg;Gk; 
mr;RWj;jy; - Nghl;bahsu; cUthjy;. 
           ,aw;if mdu;j;jk;. 

5. juk; 10 tzpff; fy;tpAk; fzf;fPl;L Gj;jfj;jpd; gf;f vz; 31 
03)   

1. ,yFthf tq;fpf; fld;fis ngw;Wf; nfhs;sy;. 
tzpfj;jpd; cupikia cWjp nra;jy;. 
murplkpUe;J khdpa kw;Wk; Vida rYiffis ngw;Wf; nfhs;sy;. 

2. 2007 Mk; Mz;L 07 k; ,yf;f fk;gdpr;rl;lk; 
3. ,wf;Fkjp tpahghuk; 

4. (i) epiyahd ghupastpyhd rpy;yiw tpahghuk; 
       epiyahd rpw;wsT rpy;yiw tpahghuk; 
       elkhLk; rpw;wsT rpy;yiw tpahghuk; 

(ii) juk; 11 tzpff; fy;tpAk; fzf;fPl;L Gj;jfj;jpd; gf;f vz; 05 ia ghu;f;f. 

 

 

 

5.  
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 ( 2 X 5 = 10 Gs;spfs;) 

04)             

1. eilKiw fzf;F cupikahsuhy; Fwpj;j gzj;ij Fwpj;j egUf;F my;yJ nfhz;L tUgtUf;F nrYj;Jk; gb tq;fpf;F 
tpLtpf;fg;gLk; vOj;J %ykhd fl;lis fhNrhiy MFk;. 

2. juTfs; mopTwf; $ba jd;ik. 
Gjpa tbtpyhd ,yj;jpudpay; Nkhrbf;F cl;gly;. 
Nkyjpf nryT 
vy;yh nfhLg;gdtpw;fhfTk; vy;yh tpw;gid epWtdq;fspy; Nkw;nfhs;s Kbahik. 

3. 1k; gpuptpdu; - fhg;GWjpia toq;Fgtu; ( fhg;GWj;JNthd; ) 

4. 3k; gpuptpdu; - fhg;GWjp xg;ge;jj;jpy; jhf;fj;ij Vw;gLj;Jk; Vida midj;J gpuptpdUk;. 

5.  
mDg;Ggtu;                  nra;jp                Clfk;                ngWgtu; 
 
 kPs typAWj;jy; Jyq;fy; 
  
top / khu;f;fk; - tPjp> Gifapuj ghij> ePu; top> thd; top 
Clfk; - g];> Gifapujk;> fg;gy;> Mfhatpkhdk; 

tY / rf;jp – ngw;Nwhy;> thA> kpd;rhuk;> #upa rf;jp> fyg;G njhopy;El;gk;. 
jupg;gplk; - Ng&e;J jupg;gplk;> JiwKfk;> Gifapuj epiyak;.>tpkhd epiyak;. 

(2X5=10 Gs;spfs;) 

Nrkpg;G itg;G fzf;F epiyahd Nrkpg;G fzf;F 

Fiwe;jsT tl;b $basT tl;b tPjk; 

Ve;Neuj;jpYk; gzj;ij itg;gpyplTk; ngw;Wf;nfhs;sTk; 
KbAk;.  

Fwpg;gpl;l fhy tiuaiw cz;L. 

Gj;jfk; toq;fg;gLk; itg;G rhd;wpjo; toq;fg;gLk;. 
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05)       

1.   

 

 

 

 

 

 

 

 

                                                                                                   (1/2 X 4 =2 Gs;spfs;) 

 

 

2.        

7/1 - &gh 50 000 %yjdk; Kjyplg;gl;lJ. 

7/5 - &gh 10 000 tq;fpapyplg;gl;lJ. 

7/8 - &gh 1 000 fhR gw;W 

7/10 – fld; nfhLj;NjhUf;F  &gh 5 000 nrYj;jg;gl;lJ. 
(rupahd nfhLf;fy; thq;fYf;F 1 tPjk; 3 Gs;spfs; ) 

 

 

 

3.  

1/1  fhR f/F           tuT 100 000 

      %yjdf; f/F nryT 100 000 
 

jpfjp 400 000 nrhj;J = %yjdk;  + nghWg;Gf;fs; 

01.01 100150 000 +100 000 +100 000  

01.02 42 000  +20 000   

 (20 000)                        

01.03 582 000    +100 000   

 (100 000)   

01.04 +50 000 ........................ +50 000 

 (5 000) (5 000)  
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1/2  fl;blf; f/F         tuT 75 000 

      fhR f/F nryT 100 000 
 

1/3  fhR f/F           tuT 200 000 

      tq;fp fld; f/F nryT 200 000 
 

1/4  nfhs;tdT f/F           tuT 100 000 

      fhR f/F       nryT 100 000 
 

1/6  fhR f/F           tuT 5 000 

      tpw;gidf; f/F nryT 5 000 
 

1/7  fhR f/F           tuT 4 000 

      tl;b tUkhd f/F nryT 4 000 
 

1/10  kpd;rhu f/F           tuT 1 000 

        fhR f/F   nryT 1 000 
 

06)  

1.    
itg;gpy; ,lg;gl;L t#ypf;fg;glhj fhNrhiyfs; 
rku;g;gpf;fg;glhj fhNrhiyfs; 
Neub itg;Gf;fs; 
epiyapaw; fl;lis ngaupyhd nfhLg;gdTfs;. 
tq;fp fl;lzqlfSk; fhNrhiy fl;lzq;fSk; 
 
 

2.      
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rPuhf;fg;gl;l tq;fpf; fzf;F 
 
 
 
 
 
 
 
 
 

 

3.      
tq;fp ,zf;f $w;W (4 Gs;spfs;)/ 

       

 

 

 

 

 

 

 

 

 

 

 

                          

kPjp/nfh/t 56 000
  

tq;fp mwtPL               400                

Neub itg;G-gpahy; 5 000 epiyapaw; fl;lis 
fhg;GWjp nfhLg;gdT       2 000 

 fhNrhiy Gj;jf fl;lzk;     100 

 kPjp/nfh/t              58 500   
61 000                     61 000 

kPjp/nfh/t 58 500     

  

rPuhf;fg;gl;l tq;fp f/F kPjp  58 500 

$l;L   

rku;g;gpf;fg;glhj fhNrhiy   

fh.,y 102 2 000  

fh.,y 103 6 000  

fh.,y 104 1 000 9 000 

  67 500 

fop   

t#ypf;fg;glhj fhNrhiy   

fh.,y 408 (3 000) (3 000) 

tq;fp $w;W kPjp  64 500 
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07)  

1. ,ul;il gjptpy; xU gjpit kl;Lk; gjpjy; 

2. ,ul;il gjptpy; xU gjpT rupahfTk; kw;iwa gjpT gpioahd njhifAk; gjpag;gl;bUj;jy;. 

3. ,ul;il gjpTfs; cupa fzf;Ffspy; xNu gf;fj;jpy; gjpjy;  

4. guPl;ir kPjpia rkg;gLj;Jifapy; Vw;gLk; $l;Lj;njhif gpiofs; 

5. NgNul;L fzf;F rkg;gLj;Jifapy; Vw;gLk; gpiofs; 

 (2 Gs;spfs;) 
                             nghJ ehl;Fwpg;NgL 

jpfjp tpguk; tuT nryT 
 tpw;gid f/F 3 000  

njhq;fy;  f/F  3 000 

(tpw;gid fzf;fpy; kpifahf 
gjpag;gl;l 3 000 rPuhf;fg;gl;lJ) 

  

 fhg;GWjp  f/F 4 500  

njhq;fy;  f/F  4 500 

(fhg;GWjp  f/F y; gjptopf;fgl 
Ntz;ba 5000/=. 500 vd 
gjptopf;fg;gl;lJ rPuhf;fg;gl;lJ. 

  

 ,ae;jpu jpUj;j nryT 10 000  

 ,ae;jpu  f/F  10 000 

 (,ae;jpu jpUj;j nryT 10 000 
,ae;jpu fzf;fpy;  
gjptopf;fg;gl;lJ rPuhf;fg;gl;lJ. 
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 njhq;fy; fzf;F 

  

 

 

 

 

 

                      [pfhd; epWtdj;jpd; 31 12 2015 y; ghPl;ir kPjp  

NgNul;L fzf;F tuT nryT 

fld; gl;Nlhu; 90 000  

fld; nfhLj;Njhu;  40 000 

Nfhs;tdT 250 000  

ngw;w fopT  10 000 

Tq;fp Nkyjpfg;gw;W  20000 

%yjdk; 1.1.2015  100 000 
fhR 130 000  
Tpw;gid  300 000 
 470 000 470 000 

 

 njhq;fy;  f/F 
gw;W fzf;F 
(gw;W fzf;fpy; ,UKiw 
gjpag;hl;lJ) 
 

4000  
4000 

kPjp/nfh/t 3500
  

tpw;gid               3 000                

Gw;W 4 000 fhg;GWjp       4 500 
      

  

   

 7500                      7500 

     

  


